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(c) A pelton wheel turbine is to be designed for the
following specifications :
Shaft power =11775kW

Head = 400 m, Speéd = 750 rpm o

overall efficiency =86%, jet diameter to wheel diameter
ratio is not to exceed one sixth (1/6). Find.

@®  The wheel diameter

i) The number of jets required
@) Diameter of the jet

Given Kv, = 0.985 and Ku;, = 0.45
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“Note : (1) Attempt all questions. ;
SR (2) Assume suitable data,’ if required.

1. Attempt any four parts of the following: ~ 5x4=20

-~ 7 ‘most efficient when-hydraulic radius is haif of the

of the flow. _

~ - dune and antidune bed forms with the help of neat
sketches. _

(c) Define- mﬁg_.mo mean radius, hydraulic depth, section
factor and most efficient channel cross section.

(d) Derive the dynamic equation of gradually varied flow.
100411) 1 [ Contd...

www.FirstRanker.com



www.FirstRanker.com

» FirstRanker.com

:I A Firstranker's choice

www.FirstRanker.com

...°H=°U _ . m

"aqm) Yelp Jo. K103y dy) urejdxs

‘OS[V 'Seqmy YeIp Jo sadeys STOLeA JO YOIONS 183U MBK]
‘sdund onuguipojoy

JOJ SoAIND SONSUSIdRIBYD UO djou B Aup (M)
ouIqIn) MO[j [elxe pue [BIpEY

‘suiqim tonoeal pue asindurf-usemiaq ajeuonglT . ()

(11001

@

(®)

0Z=01x1 : Bumoyjoy ay3 Jo sured omy Aue jdwony

“JOQUINN] 9pNO.JJ SUONIPUOd eonuoIddns Surpuodsarrod
mofj uo Aquo puadap ‘dumf ay3 Jo WBIoy sAnejRI 18y}
aao1g “dum{ srnerpAy sy} Sumreiqo 10J skem JUSISHIP
ssnosi(] (Aym ‘wep e Jo Aemuds ay) Jo 203 ay) Je
Joyedrssip A315us se pasn sawmawos s1 dunf oneIpAH
‘paredissIp AZ15u5 3y SjeMOed‘os J] 10U JO ULIO) i dunf
oNRIPAY © JOYIBIYM SUIULIDI(] BIORIIUOD BUSA Y} I8
w ' Jo ydop pue s/u g JO ANDO[PA B UM SINSSI
I1eM pauado s1 13 0mMYs Y} USYM 9188 om[s & yum
Pang ST YIPIA "HSUCO JO [ouureyd JenBueioal [ejozLoY v

‘dwuny onneIpAH Jo suoneoydde

reouoeid pue dumy JneIpAH JO UOKEIGISSE]O 3y} SSNOSICT
- dwnp onneipAH, wisy Aq puejsispun nok op jeym

©®

@

(®)

0Z=01xZ :Bumorjoy ay3 jo sued omi Aue dwony

"dAD Jo uoneyl| 9y} 9A13 ospe ‘uondunsse
S:i0LIBA 31 9381S ‘A D) JO uonenba orureuip ay) sauag

dpgord JAD Jo 3d4) oY) SuUMLISISP ‘9100 = U
Bununssy “WiE "0 39 0} PUNoy St UORESO] UTeLO T8 Yidop
9y} ‘UURYD ST} UI MOJ SSLIRA Affenpeis uf 's/ (W 0§ [
Jo a8ieyosip e sey 8000’0 Jo 2dojs wonoq € pue
W 0’ JO YIpm WO0q B Yim [SUUBYD JBjnSue1ddl Yy

©®

@

*pruo) ] r4 [t1v001

adojg reonu)y (W)
adojg dsaig (M

| adojs PPN~ ()
uo paonpoid 3[goid T A'D A Yoris  (B)
0C = 01XZ :Bumorjoy oYy Jo sued omy Aue 1dwony

dap Sy} 18 JUSIOJI00
sAzayD pug OS[V ‘SZ0'0 = USPLYA0d ssauyBnol
s Buruuepy pue , (]| SI 9dojs pog "UONIPUOD MmOp
uLopiun J3pun wy g Jo mop jo yidap pue [:| sadojs
3pIS ‘WO JO YIpIM Paq & Yim [Suueyo [epiozader) e
U1 98IeyosIp 3] pul [SULRYD B JO 90URAIAUOD UPdq (D)
_ "SOISUSIOBIBYD SNIOLIBA §)1 9qLIDSIP
pue weiSerp A319u5 ogpads oy mex(J jouueyd usdour
Mmop e 10j £819us og1ads Aq pueisiopun nok op jeypm  (Q)

"[9A3] 9ens I [fey Surpuodsarioo
3y} SI JBYA|  UOINPUOD MO [eonud © 9onpoxd
0} pasnbal [9A9] J0O[ Y} JO ISLI Y} 3&_3_&& wg'|
Buaq mop Jo yidop oy} ‘ypwm 1eow Jod s/cw g/ 7
JO Moy ® souIes [ouueyd JenFuedar Spm Yy . (B)

0Z = 0IXC ‘Bumoroy ay) Jo sired om3 Aue jdwayy

| “B[NULIOJ JURASDI Y3 9ALI( "A3100]9A

ueisuod jo [euueyd £q pubisiopun nok op Jjeym ()
‘spuadap

WaDY200 ANsoBnu s Jutuuely SY) S0P SI010YY JEYM UQ  (9)

R
.

www.FirstRanker.com



:I » FirstRanker.com

Firstranker's choice

©

100411]

www.FirstRanker.com

A pelton- wheel turbine is to be designed for the
following specifications :

Shaft power =11775kW

Head = 400 m, Speed = 750 rpm -

overall efficiency =86%, jet diameter to wheel diameter
ratio is not to exceed one sixth (1/6). Find.

(i) The wheel diameter

(i) The number of jets required
(i) Diameter of the jet

Given Kv; = 0.985 and Ku, = 0.45
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Note : (1) Attempt all que
o (2) Assume suitabl

L Artempt any four parts of1

- (a) -r-:;:Showthatfor arects
" ‘most efficient whentr
, of the flow.
() “Differentiate between
sketches.
()  Define - Hydraulic me
factor and most effic

(d) Derive the dynamic e
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